NACMOPT
U3AENUA

PRODUCT CERTIFIATE

Shower cabin installation and
operation instruction

RIO3T190TP [

900x900x2100 MM

RIO3185TP

850x850x2100 MM

MPOV3BOAVTESb / UMMOPTEP: PRODUCER/ IMPORTER:
000 «[TAHETA CAHTEXHWKI» SANITARY ENGINEERING LLC

125373, Poccua, 1. MockBa Address: 4/1, Pokhodny proezd,
lMoxoaHsIv Npoesy, 4. 4, kopn. 1 Moscow, Russia, 125373

Ten: +7 (495) 980-08-69 tel: +7 (495) 980-08-69
M3rotoBneHo B KHP Made in PRC

RI03190P

900x900x2070 mm

RI03185P

850x850x2070 mm




YBAHAEMbIE NMOKYNATEJIN!

Brnaropgapum Bac 3a Bblbop mpomyKuu TOproBoi
Mapku MARIO.

HacToAlwan  WHCTPYKUMA  npefHasHadeHa  AnA
03HaKOMJIEHWA C MPOAYKTOM, @ TaKKe C YCIIoBUAMM
NPaBWIbHOTO MOHTarKa, SKCTIyaTaluy U CepBHCHOro
06Cy*KMBaHNA NPOAYKLMW.

I'IomanyHCTa, BHMMATEIbHO 03HaKoMbTECh C
[laHHOM MHCprKLlVIeVI nepen HayasioM MOHTaxa M
3KCnnyaTaunn nsnenna.

Cnacu6o 3a nokynky!

OBLLUE CBEAEHUA

MpvobpeTeHHoe BaMu  M3penue  MpefHasHauveHo
[nA BbITOBOTO MCMOMb30BaHUA BHYTPU MOMELLEHUIA.
KoMnaHmA-npon3BoamTeNb 0CTaBNAET 3a Coboii NpaBo
He yBeOMANATL KOHEYHOr0 M0JIb30BaTeNA 0 Pa3NMIMAX
B KOHCTPYKUMM ANA yCTapeBLUeid MOfenu v HOBOro
YyYLLIEHHOr0 BapMaHTa NpojyKTa.

TEXHUHYECKUE XAPAKTEPUCTUKHU
« TonumHa 6e30MacHoro, 3aKaneHHoro CTeKna 4 Mu;

« Vicnonb3yemoe fasnenve soael 0,2-0,4 Ma, pacxon
Boadbl 8-12 n/mwH. Temnepatypa nodaBaeMoit
ropAYen Bofbl He JonHa npesbitaTh 70°C.

+ HeobxofMa ycTaHoBKa ¢unbTpoB rpyboit ounCTKM
Bogbl 100 MKM; [lpucoeuHUTENbHBIE pa3Mepbl
ropAYero v xonofHoro Tpybonposoga 1/2" (15 MM),
[nmameTp cmBHoro oteepctua 1-1/2" (40 mwm);

« YpoBeHb BBOAA KaHanM3auwW [OMKeH ObiTb He
MeHee YeM Ha 70 MM HUHKe YPOBHA CVBA AyLUEBOrO
noagoHa;

+ MakcyManbHan Harpyska Ha nogaoH 120 kr;

+ BbicoTa BbICOKOMO NOAA0HA CO CbEMHBIM MepefHUM
3KpaHoM 45 cm;

« BbicoTa HM3Koro nogaoHa 12 cm.

3ANPELLEHO

« /cnonb3oBath M3menve He MO HasHayYeHuio U BHe
TMOMELLIEHI;

. I'Io,uBepraTb uspenue
COJTHEYHbIX nyqeﬂ;

BO3[ENCTBMI0 NPAMBIX

« Haxoputbea BHYTPM B COCTOAHMM afIKOrofibHoro v
HapKOTNYECKOro OMNbAHEHNA;

- loagepratb 13aenve MexaHUYeCKIM NOBPEKAEHUAM
ntoboro pofa;

« TIPUMEHATb  U3OBITOUHYIO CUNY K KOMMMEKTYIOLLMM
M3[e1A B NPOLIECCe MOHTAMa W SKCMyataumy;

« /cnonb3oBats M3penve 6e3 npucMmoTpa niogaM c
OrpaHN4eHHbIMX BO3MOMHOCTAMM 3[10POBbS;

« Mcnonb3oBath aﬁpa3MBHble WA - XMMKYeCKN
arpeccuBHble YACTALLMe CpecTBa.

TPAHCMOPTUPOBKA U XPAHEHUE

+ M3apennA  [OMKHBI  TPAHCTOPTMPOBATLCA  KPbITHIM
TPaHCMopTOM;

+ K MOMeHTy Hayana MOHTawa, W3fdenve [OMHKHO
MPYHATS KOMHATHYIO TEMMEPATYPY;

« Mocne MOKYMKW TOBapa, /1A MOCTAaHOBKM €ro Ha
cepsucHoe OﬁCJ’Iy)KVIBaHVIe, HeobxoanMo XPaHUTb
TOBap B 3aBOJICKO YNaKoBKe.

PEKOMEH[ ALY NORYNATEI0

. npOBepVITb LI€NOCTHOCTb M KOMMJIEKTHOCTb U3AENNA B
MOMEHT NMONy4eHns;

« 3aBepLUMTL BCE PEMOHTHO-OTZEeNOYHble paboTbl B
MOMELLIEHIM Ha MOMEHT MOHTaMa;

« lcnonb3oBath AnA UACTKM MATKYI0 TKaHb, HunOxkue
YncrTAme cpeacrsa 6e3 aﬁpa3I/IBHbIX N XUMUYeCkM
arpeccMBHbIX KOMMOHEHTOB;

+ He cTaByTb Ha non 6e3 KapToHa AeTanu, U3roToBMeHHbIe
13 cTexna. M3beratb yOapoB W YCTAHOBKM CTEKON Ha
yron.



e~ >

DEAR CUSTOMERS!

Thank you for choosing the products of the MARIO.
trademark. This manual is designed for introduction to
the product, as well as to the conditions for the proper
installation, operation and maintenance of the product.
Please read this manual carefully before installing and
operating the product.

Thank you for the purchase!

GENERAL INFORRTION

The product is intended for domestic use indoors. The
manufacturer reserves the right not to notify the final
user of differences in design of an outdated model and
a new improved version of the product.

TECHNICALCHARACTERISTICS
« Thickness of the safe tempered glass is 4 mm;

« Water pressure applied 0.2-04 MPa, water
consumption 8-12 |/min. Temperature of hot water
supplied should be no more than 70°C;

« Installation of coarse filters 100 ym for water is
required;

« Connecting dimensions of hot and cold pipeline 1/2"
(15 mm), tap hole diameter 1" (40 mm);

« The sewer inlet level should be no less than 70 mm
lower than shower tray drain level;

+ Maximum load on the tray is 120 kg;
« The height of high tray with a removable skirtis 45 cm;
« The height of low tray is 12 cm.

ITIS PROHIBITED TO DO THE FOLLOWING
« Use the product for purposes other than intended,

» Use the product outdoors;

« Expose the product to direct sunlight;

« Be inside under alcohol or drug influence;

« Subject the product to mechanical damage of any kind;

« Apply excessive force to the components during
installation and operation processes

« Use the product unattended for people with disabilities;

« Use abrasive and / or chemically aggressive cleaners.

TRANSPORATION AND STORAGE
« The products must be transported in a covered vehicle.

« At the time of installation the product must be of a
room temperature

« The product has to be stored in the original packaging
after the purchase in order to be accepted for an after
sales service.

RECOMMENBTIONS TO BUYERS

« To check the completeness and the entirety of the
product at the moment of receiving;

- Before the assembly all repair and decorative works
should be completed;

+ Cleaning of the shower cabin should be performed with
a soft piece of cloth using liquid washing agents without
abrasive and / or chemically aggressive components;

- Do not put glasses on floor without protective
cardboard, avoid impacts and putting glasses on the
corner.



-

CXEMA NOATrOTOBKU
KOMMYHUKALUIA
COMMUNICATIONS
PREPARATION LAYOUT 2
0
750 xonoaHas Boaa / cold water
ropsiyasi Boga / hot water
PEKOMEHAOBAHHbIﬁ
WHCTPYMEHT Aanqa A
MOHTAKA KABMHbI dp=—=o
RECOMMENDED CABIN
INSTALLATION TOOLS @
===-S s = f
="
R
Le==)))} A
9




>

KOMMMEKTALMA
FITTINGS
(01 ® N (02 ® 3 (o3 (04 )
‘snm‘ |8mm| gsm /
(M4x30 x8/ | M4x10 x4) (M4ax16 x24) L x2)
(05 : 3 (os 3 (o7 1 (os h
X8 L X20)
09 L h 10 h
L x4)  (max8  xs
(16 h
\—
N\ Xs/
(20
N X2)
22 h 23 h 28 High tray)
D
~—
L x1) x1) X1

(o .\
30 Low tray

==

X1







=0 aag

[SSRNNNNY]

J

V
X:

t'

X5

i X1

30-5

304
g [S)
4x35 x4

X18

O

30-3

30-2
feo
M4 x 20 X1

X3

by

30-1
30-7

30-10

30-9

=

X

X1

30-8

L

X4

d

X1







01 02 @ 07 08 20 21 22
¥ o= 7 1] 1]
M4 x 30 X8 M4 x 10 X4 X2, X4, X2, X1 X1




05 : 06 " 03
. ) i
X4 X10 X10 M4 x 16  X10

10‘












09 E 23

M‘



23

X1

17

il

X1

19

@Q

X1

‘15



RU FAPAHTUAHBIE OBA3ATENBCTBA

Cnacu6o, 4to Bbl Bbi6panu npoaykumio MARIO!

[laHHble  rapaHTMiHble  06A3aTenbcTBa  AOMOHAKT
npaBa M 006A3aHHOCTM MOTpebuTenel, onpemenéHHble
3aKOHOM, HUKaK He orpaHuuMBas ux. CpoK aKcnnyataumm
npuvobpeTeHHoro n3genua coctasnaet 10 ner.

Ha wusmenve M ero  KOMMMeKTyloWMe —rapaHTuA
lpoussogutena  coctasnAeTr 1 rog.  [apaHtuA
[pou3BoauTENA OEMCTBYET C AaTbl MPOMAHM.

Mpu 06paLLEHIM MOKyNaTeNA B TOPryIOLLYIO OpraHM3aLmio
WM aBTOPWU30BaHHbIA CEPBUCHBIA LIEHTP MOTpedUTeNDb
[0MHeH NPebABITL KACCOBbIM UV TOBAPHIN YeK 160
WHble [0KA3aTe/bCTBa 3aK/i4eHMA A0roBopa 1 oniatsl
ToBapa.

BHELUHWMI BUA M KOMMMEKTHOCTb M3ENA [0MHKHbI ObiTh
MpOBEPeHbI MOKyNaTesieM B MOMEHT NOyYeHWs U3aenma
B pasobpaHHOM Buae. B manbHeilieM mpeTeHsuu o
BHELLHEMY B 11 KOMM/IEKTHOCTM HE MPUHUMAIOTCA.
TAPAHTWA HE PACMPOCTPAHAETCA:

+ Ha npopyKumio, mcnonb3yemylo B 0BLLECTBEHHbIX
MecTax;

+ Ha gedeKTbl, CBA3aHHbIE C HEMPaBMBbHOM YCTaHOBKOM
1/VN HapyLLIeHWEM MpaBW SKCMyaTauum;

+ Ha HemcnpaBHOCTW, Bbi3BaHHbIE MIOXMM KavecTBOM
BOJOMPOBOLHOM BOAbI 1 KOppO3ven Tpyb;

+ Ha HENCNpaBHOCTH, BbI3BaHHbIE
HanpAXeHnAa B 3J'Ie|-(TpW48CHOI7I CeTu;

nepenagamu

+ Ha noBpeOeHWA, BO3HMKLIME B  pe3ynbrate
CTUXUIMHBIX beACTBUI;

+ Ha NoBpexaeHnA, Bbl3BaHHbIE WCMO/Ib30BaHWEM
CpencTs no yxony, He npefHasHa4eHHbIX 1A AaHHOro
mnsnenua.

TAPAHTUMHbINA TANOH
WARRANTY COUPON

Mogenb / Model

Npopasew, / Seller

Davanpopawm /Dateofsale «__ »

20

WARRANTY POLICY

Thank you for choosing MARIO products!

These warranty obligations complement the rights and
obligations of consumers, as defined by law, without
limiting them in any way. The useful life of the purchased
product is 10 years.

The manufacturer's warranty for the product and its
components is 1 year. Manufacturer’s warranty valid from
date of sale.

When a customer contacts a trading organization or an
authorized service center, the consumer must present a
cash or sales receipt, or other evidence of concluding a
contract and paying for the goods.

Appearance and completeness of the product must
be checked by the buyer at the time of receipt of the
disassembled product. Further claims for appearance and
completeness are not accepted.

WARRANTY DOES NOT COVER:

» Products used in public places;

+ Defects caused by improper installation and / or
violation of the operating rules;

Faults caused by poor quality of tap water and pipe
corrosion;

Faults caused by voltage fluctuations in the electrical
network;

» Damage caused by natural disasters;

» Damage caused by the use of care products not
intended for this product.

C rapaHTHitHbIMM 06A3aTenbcTBaMMU o3HaKoMAeH / | have read and understood warranty obligations
KomnnekTHocTb noctaBku AyweBoi Kabunbl nposepun / | have checked the completeness of delivery as to the shower cabin
ToBap BMAMMBIX MeXaHU4YeCKUX noBpexaeHui He uMeeT / The product does not have visible mechanical defects

Mokynavenv /BuUyer ...}






